
STAR Drum
No. Model No. Description

1 MTB90 Floor tom bracket

1-1 MS412B20P Mounting screw M4x12mm (20pcs/set)

1-2 MTB90A2 Memory lock

2 MFLSG3P Floor tom leg (3pcs/set)

Starclassic (2015~)
No. Model No. Description

MTB90 Floor tom bracket Chrome plated finish

MTB90BN Floor tom bracket Black Nickel plated finish

MTB90U Floor tom bracket Smoked Balck Nickel plated finish

1-1 MS412B20P Mounting screw M4x12mm (20pcs/set)

1-2 MTB90A2 Memory lock

MFLSL3P Floor tom leg Chrome (3pcs/set)

MFLSL3PBN Floor tom leg Black Nickel (3pcs/set)

MFLSL3PU Floor tom leg Smoked Black (3pcs/set)

2-1 MFL-RT3 Air pocket rubber foot (3pcs/set)

Tom/Floor Tom Bracket, Floor Tom Leg

1

2



Tom/Floor Tom Bracket, Floor Tom Leg

Starclassic (~2014)
No. Model No. Description

MTB30* Floor tom bracket Chrome plated finish

MTB30H* Floor tom bracket Brushed Nickel plated finish

MTB30BN* Floor tom bracket Black Nickel plated finish

1-1 HB840WN8T Bolt, spring, washer & wing nut assembly

1-11 WN8P Wing nut (2pcs/set)

MTB30-2 Memory lock for 10.5mm L-rod Chrome Plated

MTB30-2H Memory lock for 10.5mm L-rod Brushed Nickel

MTB30-2BN Memory lock for 10.5mm L-rod Black Nickel

2-1 MSS615 Bolt & nut set

2-2 MS414B20P Mounting Screw M4x14mm (20pcs/set)

MFLSL3P Floor tom leg Chrome (3pcs/set)

MFLSL3PHN Floor tom leg Brushed Nickel (3pcs/set)

MFLSL3PBN Floor tom leg Black Nickel (3pcs/set)

3-1 MFL-RT3 Air pocket rubber foot (3pcs/set)

* MTB30 come standard with MS414HSB (2pcs)

No. Model No. Description

1 MTB25EBN Floor tom bracket Black Nickel plated finish

1-1 MTB25E-1BN Casting only

1-2 EBS820WBN Eye bolt M8x20mm, washer & wing nut M8 assembly

1-21 WN8BNP Wing nut M8 (2pcs/set)

1-22 EBA820 Eye bolt M8x20mm

1-3 MS412B20P Mounting Screw M4x12mm (20pcs/set)

No. Model No. Description

2 6573CBN3P Floor tom leg Black Nickel Plated (3pcs/set)

2-1 6573RTC Rubber Foot (1pc)

1

3

Superstar Hyper-Drive

2



Tom/Floor Tom Bracket, Floor Tom Leg

No. Model No. Description

1 MTB25E Floor tom bracket Chrome plated finish

1-1 MTB25E-1 Casting only

1-2 EB820WN8W Eye bolt M8x20mm, washer & wing nut M8 assembly

1-21 WN8P Wing nut M8 (2pcs/set)

1-22 EBA820 Eye bolt M8x20mm

1-3 MS412B20P Mounting Screw M4x12mm (20pcs/set)

2 6573C3P Floor tom leg (3pcs/set)

2-1 6573RTC Rubber Foot (1pc)

No. Model No. Description

1 MTB25 Floor tom bracket

1-1 MTB25-1 Casting only

1-2 TS816 T-bolt M8x16mm (2pcs/set)

1-3 MS412B20P Mounting Screw M4x12mm (20pcs/set)

2 6573C3P Floor tom leg (3pc/set)

2-1 6573RTC Rubber Foot (1pc)

Starclassic Performer, Superstar Classic

S.L.P. Drum Kit

Silverstar, Imperialstar(2005~2011)



Tom/Floor Tom Bracket, Floor Tom Leg

No. Model No. Description

1 MTB75E Floor Tom Bracket

1-1 MTB75E-1 Casting only

1-2 EB820WN8H Eye bolt M8x20mm, washer & wing nut M8 assembly

1-21 WN8RM Wing nut M8

1-22 EB820H Eye bolt M8x20mm

*Sold

Separately
MS412B20P Mounting screw M4x12mm (20pcs/set)

2 6573RM3P Floor Tom Leg (3pcs/set)

2-1 6573RTH Rubber Foot (1pc)

No. Model No. Description

MTB70 Floor tom bracket Chrome plated finish

MTB70BN Floor tom bracket Black Nickel plated finish

1-1 TS816P T-bolt M8x16mm (2pcs/set)

1-2 MS414B20P Mounting screw M4x14mm (20pcs/set)

6573CS3P Floor tom leg Chrome finish (3pc/set)

6573CSBN3P Floor tom leg Black Nickel finish (3pcs/set)

2-1 6573RTCS Rubber Foot (1pc)

No. Model No. Description

1 MTBRM Floor tom bracket

1-1 TS816RM T-bolt M8x16mm

1-2 MS412B20P Mounting screw M4x12mm (20pcs/set)

2 6573RM3P
Floor Tom Leg for Club-JAM Flyer, Rhythm Mate

(3pcs/set)

2-1 6573RTH Rubber Foot (1pc)

3 6573CLJ3P
Floor Tom Leg for Club-JAM & Club JAM Mini, Club

JAM Suitcase (3pcs/set)

2

1

Chrome plated finish 

Imperialstar (2019~(IE Model))

Imperialstar (2012~2018, 2023~(IP Model)), Swingstar

(2011~2016)

Chrome plated finish 

Club-JAM, Club-JAM Mini, Club-JAM Suitcase,

Club-JAM Flyer, Rhythm Mate



Tom/Floor Tom Bracket, Floor Tom Leg

No. Model No. Description

1 MTBS6810P Spur bracket

1-1 EBA830WN Eye bolt, washer & nut assembly

2 6573CPS Floor Tom leg for Club-Jam Pancake(Shorter) (1pc)

2-1 6573RTC Rubber Tip of Floor Tom leg (1pc)

3 6573CPL3P
Floor Tom leg for Club-Jam Pancake(Longer)

(3pcs/set)

No. Model No. Description

1 MTBSGL Bracket for floor tom

1-1 TS815J T-bolt M8x16mm

1-2 MS510B20P Mounting screw M5x10mm (20pc/set)

2 6573ST3P Floor Tom Leg (3pcs/set)

2-1 6573RTJ Rubber Foot (1pc)

Stagestar (2016~)

Club-JAM Pancake


